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Set Id : 62384 27 BATCH1_D.El.Ed. Odia_10NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

As Lydia marches to the café, Irene floats over to the new fiction. She loves nothing better than a
stack of fresh books on her nightstand. What an enriching way to start the new year. Irene spent
her New Year's Eve taking down all of her holiday decorations and packing them neatly away. She
left the boxes at the bottom of the attic stairs. Russ is due back late tomorrow night or early
Thursday morning, he said, and once he returns, he will be fully at her disposal. He left for a
“surprise” business trip two days after Christmas. The man has more surprise business trips than
anyone Irene has ever heard of and in this case, he was leaving Irene alone for New Year's. They
had quarrelled about it the previous afternoon on the phone. Russ had said, “I'm fully devoted to
you, Irene, and | strive to see your point of view in every disagreement. But let's recall who
encouraged whom to take this job. Let’s recall who said she didn’'t want to be married to a corn
syrup salesman for the rest of her life.”

1) Where did Russ go?

A) To buy Christmas gifts

B) To bring holiday decorations
C) For a business trip

D) For an advertisement shoot

2) What did Irene worry/thinking about?

A) Taking down the Christmas décor
B) Celebrating New Year alone

C) Working through the books

D) Russ' surprise work trips

3) What had Russ and Irene quarrel about?

A) Russ leaving Irene alone for New Year's
B) Irene's increased business trips

C) No Christmas decorations to put up

D) Writing fiction throughout the day



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

4) Why did Irene not like Russ' business trips?

A) He did not take her along
B) She went alone to the mountains

C) He has many surprise business trips
D) She wanted to be with her family

5) What did Irene like to do?

A) Wirite fiction books
B) Read fiction books
C) Sell fiction books

D) Publish fiction books

6) Which of the following is a correct sentence with respect to use of words: pear or peer

A) My daughter likes to eat peer.

B) Peer pressure makes him buy expensive stuff sometimes even beyond his reach.
C) Pearto Pear communication is necessary for a good team work.
D) Peeris more expensive as compared to banana.

7) The phrase Jabber away means

A) to speak quickly in an excited way
B) to speak ill of somebody

C) to speak the truth

D) to speak very slowly in a simple way

8) Fill in the blank with correct prefix or suffix:

My sister and | have joining plots.

A) ad
B) co
C)up
D) un
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9) Which of the following words is correctly spelt?

A) syncronous
B) synchronous
C) synchronus
D) synchroneus

10) The phrase "heap something up" means

A) to put something on a pile
B) to put something beside other things

C) to put something away from other things
D) to imagine something unfamiliar
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following statements indicate the effect of algal blooms on aquatic ecosystem?

A) The demand of oxygen in the lake decreases

B) The level of dissolved oxygen in lake increases
C) The amount of toxic chemicals in water increases
D) The population of microbes in the lake decreases

11) GRS caei g 6ads FR1C OAA°YIER 68Q1R YRR INISY goinaia ?

A) 2968 2APINA SI@Ql @faN
B) gesa 99196 AGRIAA 2R 9F ar
C) afsa da1e aande aaida adele Q& anN

D) gesa 8iq1 Q19 e efar

12) Correctly match the List | with List II. List | List Il

List | List Il
(@) J. C. Kumarappa (i) P. C. Mahalanobis
(b) The Second FYP (i} White revolution
(c) Verghese Kurien (iiiy Agricultural centrism
(d) Chaudhary Charan Singh | (iv) Rural industrialisation

A) a-iii, b-iv, c-ii, d-i
B) a-iv, b-iii, c-i, d-ii
C) a-l, b-ii, c-iii, d-iv
D) a-iv, b-i, c-ii, d-iii
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12) aidel | 986 eiRel || @ a0k 691G ARIRYS ATQ IRES Q IR

QIRRI | QIR I
(i) 8.49. aReeIdq

(a) s2.4. gaieql

(b) Ge1a vz gaa | (HuRFge
(iii) @Ssee

(c) acisa gave

(d) selyal ead & (iv) gicna dsiag

A) a-iii, b-iv, c-ii, d-i
B) a-iv, b-iii, c-i, d-ii
C) a-i, b-ii, c-iii, d-iv
D) a-iv, b-i, c-ii, d-iil

13) The State Board of Teacher Education was set up for the first time by the recommendation of -

A) The Macaulay's Minutes

B) Indian Education Commission
C) Gokhale's Bill

D) The Kothari Commission

13) eI QuIfaRsa gad 2a ail e J9@ d9 6916 §09 RN -

A) fIR@sas A5
B) Q1ae1a d81 @fag
C) salsicns an

D) 6i0id @ige

14) The Education Commission of 1917, was popularly known as

A) The Sadler Commission

B) The Hartog Report

C) The Mudaliar Commission

D) The Radhakrishnan Commission
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14) ece9oaq &gl alcaua, 98 QINEA caIega

A) 989 matle)

B) Qi6516| dsais
C) AIR2IQ @8R,
D) QARIKFAR @fisie

15) The three language formula was recommended for inclusion in the

A) National Policy of Education, 1986
B) National Policy of Education, 1992
C) National Policy of Education, 1968
D) National Policy of Education, 1958

15) @108l 98 126a 28RS @AQl IR YAIRS AR

A) QIRIC da 918, ecrs
B) Qa1 dsi 018, ece9
C) QI §11 MG, e ¢or
D) Qg1 am ¢18, e c8r
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) M is richer than N, P is richer than M, Q is richer than P and R is the richest of all. If they are
arranged from left to right in the increasing order of their richness, then who will be at the 4th position
from the left?

A) Q
B) P
C)M
D)N

18) M, N oig a1e1, P, M oiq ae1, Q, P 0ig ae19er R arge aaieq agoiq §1a11 9@ 627i6e Glea Q1R @76a Qinq @Iisg
AGE 9813, 6669 QIAG 988 YIRER B9 RER ?

A)Q
B) P
C)M
D) N

17) In a certain code language, if the word FINDING is coded as EJMEHOF, then how will the word
REPORTS be coded in that language?

A) EPQNTMZ
B) KZANKFA
C) QFOPQUR
D) QDMQNBA

17) e 754 caie asica, 98 FINDING se EJMEHOF aiesa 6aie 62108, 6060 698 aisisca REPORTS b Q @ad
6Rle @Ql 9 2

A) EPQNTMZ
B) KZANKFA
C) QFOPQUR
D) QDMQNBA

18) In the following questions, mark:
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1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

In which year was Tom born?
|. Tom is 25 years younger than his mother.

[l. Tom's sister who was born in 1974 is 35 years younger than her mother.

A) 1
B) 2
C)3
D) 4

18) RAMGYS 99986a 536 00q :
2. 9@ 99Q4 | anaia RRQA seeiq asae 26T |

9. 96 QRS Il vgFz anaya QAR caalg K 2IES |
q. 98 G394 | ver 1l aegg ¥eI0 F2IAR 6069 AR AQQ 6991 A AdYIg 266 |

¥. 96 8904l | ver || asgq eI FaId9 6060 @ AAAIQ AR 6991 TIe ALY 62 |

604 d o7 @9 62N ?
|. of el arIE o 98 @d AR |

Il. eae @@l da ¢ oy AdeEa 9F 6ARTEM 6Q o1 AIZiE 0IQ N8 @d QIR |

A) ¢
B) ?
c)
D)¥

19) Tina is facing south. She first turns 135° anti clockwise and then turns 180° anticlockwise. In
which direction is she facing finally?

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

A) South-west
B) South
C) South-east
D) West

19) Gql @6 2leq 99Ieg | 6a gaen ens° QISR aiee e gél ero® QLR sice QAN | 68IT6Q 69 609 @9q oI g ?
A) ofi¢-ada
B) @@

C) @84-9%
D) e8a

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

If the equation, x2 - 11x + p = 0 has integer roots, then how many integer values can 'p' take?
.p>0

[I. Sum of the roots is 11.

A) 1
B) 2
C)3
D) 4

20) QINGC gggfasa 3¢ g :
¢. 9@ Q9QE | anaia R 60QIq weae 26T |

9. 96 R4 Il vgdal anaia AAQA saalq asaa 26T |
7. 9@ QL6 | ver || aeag Y10 S2Ide 6669 A AR 699 diel AIY 266 |

¥. 9@ @904 | ver |l asag R0 F2Ide 6069 B AR AR 649! aIE adig g6 |
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Q@ AMaad, X9 - eeX + p = 0 gdie @ 26, 6069 'P' 6a6e gdie C1IR 60QQIER ?
.p>0

ll. geaeaigas cead ¢e |

>

.2 B

S0
< 3
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) What was the goal of eclectic philosophy based education proposed by Mahatma Gandhi?

A) Fusion of realism, idealism, and pragmatism philosophy

B) Fusion of naturalism, idealism, and pragmatism philosophy
C) Fusion of naturalism, idealism, and realism philosophy

D) Fusion of naturalism, humanism, and pragmatism philosophy

21) Q919 GIR1E QO JAEG aGIa 0de DER Faa asy &4 am ?

A) 9190910, IRFRIR I GAFRIR Q4 Fige
B) 912640, 2I0diIa 1" 9Bl 2deQ g
C) 9I98a6l, QI 1&* QIZQIQ1 odaa ge
D) IRER6I, QIR0 & gadele @dra fgel

22) A teacher focus on keeping order in the classroom and places firm limits and control over the
students. Which of the following classroom management styles is she using?

A) Authoritative style
B) Authoritarian style
C) Permissive style
D) Submissive style

22) 964 2199 5g41996Q Rl AUEa dIe G2E 99 SRR QU6 9@ JAAIF I A4 QHE | 69 FARYS 694192 ARG
€A C1IQ 6REE MNRAR KRS ?

A) dRIQS 681
B) 9iiQoe 63a1
C) 4998 681
D) 4196 631

23) The maijor barrier in Mid Day Meal scheme is

A) Lack of funds
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B) Lack of nutrition
C) Lack of publicity
D) lack of accountability

23) CRIIZ 6QUFFER EIS JORR 6298

A) a§a aae

B) 6019@0Qa aaIe
C) geloa awle

D) aae9idea aaie

24) Who stated that literacy is not the end of education, and not even the beginning?

A
B
C
D

Mahathma Gandhi
Swami Vivekanada
Sri Aurobindo
Rabindranath Tagore

24) 34 Q928 60 AVRG! A 65F 6L, e QA A 6L ?

A) a2 QIR

B) Q91 Geqiqel
C) ¢1 zeaideal
D) ae1aaI2l 1681Q

25) Which of the following laws does NOT come under the Thorndike’s theory of learning?

A) Law of readiness
B) Law of effect

C) Law of exercise
D) Law of interest

25) Qqaige Fangee AUQ 6966 6AIFPINR YR ARIS ZUNER A6 Q1T ?

A) 996a foe
B) gaiea fa¢
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C) QUi fae
D) 2igeq foa

26) Which of the following statements describe classical conditioning accurately?

A) In classical conditioning, the organism learns an association between two stimuli.

B) Classical conditioning usually deals with voluntary behaviors active in the environment.
C) Classical conditioning involves applying reinforcement or punishment after a behavior.
D)

Classical conditioning involves associating an voluntary response and a stimulus.

26) fqage frg 699 Q161 Qdfn a8dFq 909 AIesa edel F6a ?

A) AR FATER, V19 QAC QAR FRIEA IR PAOR 64

B) QR9IR @8aF ARIGEE AGEIF6R AT 2RI 6ARIQS USRS AGS QI @829
C) 99iR *dAt" 1@ 2ISAd T6Q QLR ARl 98 geAId @GQl 986 889

D) QPN @EAG Y@ 6URIFE JORA N Y@ QALY FP6 ¥6a

27) Teacher asks questions during the teaching learning process. She asks questions and rewards
the student who gives the right answer. This action is associated with

A) Conditioned response by Pavlov
B) Removal of error by Thorndike

C) Positive reinforcement by Skinner
D) Holistic view of Gestalt

27) d9101e gIa AVN6Q J9e OF Jaad | 62 g4 0aad 9e° Ql@ﬁi QAR 60029 819 YO 28 | 1@ QIdy
PG 960 |

A) 965/9F QA AGIRF goRal
B) areinee QeI gF 2aaas
C) 396 Q6 ARAAR QL1R6E
D) 60@iqe 62108 qau

28) Which of the following is an example of the computer-mediated communication in schools?

A) The teacher uses matchstick drawings to explain laws of motion
B) The teacher screens a movie on the projector to explain infinity
C) The teacher shares with the students a CD about French revolution
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D) The students chat with their e friends from abroad to share perspectives

28) GQRAYe TIQ 699 FMIRAER PSR AIRINER YITICAITR 9P ALILAE ?

A) 66 Faa geiael diel d8a C21dR Q10 68 M1eeR ReB
B) 2Qi6161g QEIaQ! dIgl 9@ 6YI6PR6R IR ORPE 696G
C) TauiQl A9 Fa06a I89 BIGAINE A0 4@ IQ IR 08

D) aigrice fea gas raiaia @89l ais 96096Q 2Rl @ AR A2Q CI6 K03

29) Which of the following associations encourage closer links between home and school?

A) TAT
B) PET
C) TPT
D) PTA

29) ARG 698 A°CI0RE A B FQIRY FUEa FRTER AR 69I12LR 6 ?

A) TAT
B) PET
C) TPT
D) PTA

30) The process of asking a question by rapidly listening to all answers far fetched, impractical or
impossible is referred to as

A) questioning

B) listening

C) brain storming

D) lecture cum discussion

30) 9oQ ARG @9l AARL AL a@aq@@ <ngl 61@ g4 aatQIa 9e gaal cead

A) 99 [aIalal
B) 98l
C) A19Q Age @5<!

D) JLIRGI A2 AT FQQ
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Section 5 - Paperll-Odia Lanquage

No. of Questions: 15

31) 9 FIEA AR VIR VATAREA ALIQ TFRR A6S?

A) 2
B) o4
C) @g
D) 4@

32) 21960 8 Hee QUG 92 694 QR QIR FQUAIRT ?

A) ‘@rug
B) ‘quQ
C) ‘arag
D) ‘e’ a1g

33) QIF B QIS QAQ T6ATE 6R6C NIER TR ?

A) ¥
B) 8
C)a
D)9

34) ‘agigie’ sea FUasIdeNe 4% QI |

A) 2l
B) 2I916
C) 216
D) 2ig4s

35) ‘QIG-QI+¥ = QIAQ" — YOIER FIAq @'§ gRIHQ”?
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A) @aaQ
B) uig
C) goya

D) de@

36) GREGRR AUQ 62QG ARGI?

A) @4Q1
B) &g

C) agia

D) 6dleig

37) 69l+aa= ‘9laa’ dR6a ML ‘A0’ JoYd 64 AR QU996 6QIREG ?

A) RIQI6E

B) 2:0¢ 2dea
C) <N 2iden
D) @18@I 2dea

38) ‘@be rolve’ QFa 2d H9ud Ka |

A) 2819 g
B) @@ ajQl
C) @9 @aa

D) &l q1aq

39) ‘@04l 971 698’ P 2 U8 @Q |

A) 79 6@ A6QISH 62
B) @9 gaiQ
C) amie1e @I

D) §976a FRRIR
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40) 79 RRYER AU INTR 699 QU FRFIAR F6ITE A 6L YRS 61RAN?

A) a1d
B) qidoe
C) gqa1d
D) qi&a1d

41) ‘@0pde’ 99 A6 F9 QIS |

A) 69198
B) @<
C) 99
D) €2

42) G6qI® FRIQ 62QG YR 63 Q4 9oYa FIR §Q7?

A) a9
B) ag1¢
C) cugal
D) aioe

43) ‘ase’ udeq ‘Gel’ goua 69196 6100 drg QI |
A) 9@
B) aididal
C) aada

D) auadal

44) 99ERI A8 9968 FIE — 6RSIEE AT @ 9e?

A) a1 ae

B) Geil G6984
C) Gal Seaay
D) aqqidel g
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45) ‘61919’ 49 AT 99 QU |

A) o6
B) Qa4
C) 2rd

D) <oge
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) If 3(2x - 1) - 10 = 8 + 5x, then x =

A) 13
B) 17
C) 21
D) 25

46) 9@ 3(2x - 1) - 10 = 8 + 5x 94, 6069 X =

A) 13
B) 17
C) 21
D) 25

47) What is the area of the parallelogram whose base and height are 10 cm and 5 cm respectively?

A) 50 sg. cm
B) 25 sg. cm
C) 15sg. cm
D) 5sg. cm

47) 94 eo 6af 6 990l 8 64fi 384 AFIVAIRG CAYTR 6WES 68Q ?

A) 50 a4 6ad
B) 25 adi ead
C) 15 ad 6af
D) 5 ad ead

48) A number which when divided by 4, 5 and 6 leaves a remainder 3, but when divided by 9 leaves
no remainder. Which of these is the required number?

A) 123
B) 93
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48) 4@ ey qiei@ 4, 5 e 6 QoI 08 691Q QIS8 3 21GeINd, @9 69606967 9 QI F6S 24 IFEAT Q8 2N | TAFIQ 6T
6R0R 2SR LY ?

A) 123
B) 93
C) 63
D) 33

49) The cost price of a computer is ¥ 20,000. A shopkeeper sold it for ¥ 23,000. What is the
percentage of profit that the shopkeeper makes?

A) 10%
B) 15%
C) 20%
D) 25%

49) 9o asyeaa @ gai T 20,000 | @6 cainian waig T 23,000 6 4G a6 | 6212101 929 AINQ 9@ 6760 ?

A) 10%
B) 15%
C) 20%
D) 25%

50) If 3x + 4y = 21 and 4x + 3y = 28, then what is the value of (x+y) ?

A) 4
B)5
C)6
D)7

50) @@ 3x + 4y = 21 wer 4x + 3y = 28 94, 6669 (X+ y) @ AIQ 6QEC ¢

A) 4
B)5
C)6
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D)7

51) In a cyclic quadilateral PQRS, PS is extended to a point T. If ZRST = 80°, then 2PQR =

A) 40°
B) 50°
C) 80°
D) 100°

51) PQRS ogeel oggea, PS @ T 9g adie qf eamied | 9@ 2RST = 80° 24, 6560£PQR =

A) 40°
B) 50°
C) 80°
D) 100°

52) Which is the largest four digit number, leaving a remainder zero when divided by each of the
numbers 15, 25, 36 and 407

A) 9600
B) 9720
C) 9360
D) 9000

52) caq ad aedda QLR e 15, 25, 36 wer 40 geeie ol QNI 0D 626R WTEHV g7 QB2 ?

A) 9600
B) 9720
C) 9360
D) 9000

53) A packet of clips is marked 30% above the cost price by a shopkeeper. He allows a discount of
20% on the marked price and sells those clips. What is the percentage of profit made by him?

A) 4%
B) 5%
C) 8%
D) 9%
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53) q9 a & aeae salIele gami gauoie 30% e Ade 621e8 | 62 Adie gruea 20% GaIe d2R e 638 §09eR 08 @ad |
ol AR2Q1 AIeG 9993 Q60 ?

A) 4%
B) 5%
C) 8%
D) 9%

54) A school has 650 students.The ratio of number of boys to the number of girls is 2:3. This ratio
changes to 5:7 after the admission of 70 new students. What is the number of newly admitted boys?

A) 40
B) 42
C) 44
D) 46

54) v¢ dupasa 650 e¢ a1¢ 288 | QPRI ray A8¢ QlRe raye Agale 628 2: 3 | 70 Qo6 218 Aefide asa 1@ Aqae
5: 7 6a afede 241 969 16 6418l 6908QI QIRAFIGE TE 6969 ?

A) 40
B) 42
C) 44
D) 46

55) If A and B are two sets and A' denotes the complement of set A, then A N (AUB)' =
A) A
B) B

C){}
D)A-B

55) a@ A ae B 966 sa¢ wer A' 648 A @ 9067149 900G @6Q , 6862 A N (AUB)' =

A) A
B) B
C){}
D)A-B
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56) Which is the largest 4 digit perfect square divisible by 15, 40 and 257

A) 9,800
B) 9,600
C) 8,100
D) 3,600

56) 15, 40 ver 25 Qe SRiEe 6298ql 49926 4 2@ 88 gd @4 6ae6 ?

A) 9,800
B) 9,600
C) 8,100
D) 3,600

57) What is the area of the triangle whose vertices are (-1,0), (5,4) and (2,-3)?
A) 4 sq. units

B) 8 sqg. units

C) 9 5q. units

D) 15 sq. units

57) 4@ 29ea 6R0Te 6260 626 I2Iq 91d sead (-1,0), (5,4) e (2, -3) ?

A) 4 ad gae
B) 8 ad g&¢
C) 9 ad gae
D) 15 ed g@e

58) A cap seller sells white, black and orange coloured caps. He has these 3 coloured caps in the
ratio of 4:5:6 respectively. If he has 20 black caps, then the total number of caps with him is

A) 68
B) 64
C) 60
D) 56
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58) a6d U0 F6a6l 4, GR 9 FOR AFa GUY §5 @08 | ol JISIER @ 3§ aara qud gagen 4: 5 6 agaesa 28 1 98 ele
g6 20 & @@l @ua 28, 666@ oI UISIEQ &Ql AYQIL QT U 6908

A) 68
B) 64
C) 60
D) 56

59) In a class of 35 students, each student must study at least one of the two subjects - Mathematics

or Economics. If 17 students study Mathematics and 10 students study Mathematics but not
Economics, then how many students study only Economics?

A) 25
B) 18
C) 12
D)7

59) M8 @& 2I6F 656169, Y66IR 816 28 76a Qa8 daa 2UAR A6, Gl AUQ 6QlIGN aéie @ 2de1d 6R1RRQI aIaeNa |
939 09 Q4 818 G860 AUAS KOS 1 2o Rd 818 186 BRIAR A0F A7 AIRIE G6Y, 6669 6R6E I8 6RR AINE 2GR A0E 7

A) 25
B) 18
el
D) 7

60) A two digit numbers exceeds the sum of the squares of its digits by 14 and exceeds twice the
product of it's digits by 50. Which is the number?

A) 52
B) 62
C) 82
D) 92

60) 9@ Qeze Gda eyl 92Ia AGYERR Qoa AAFQ 0¥ AJe 99 96° 12IQ AGA AUR0IQ Qg 8o ATR 941 6669 TUIT 6R66 ?

A) 52
B) 62
C) 82
D) 92
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) In which layer of Atmosphere the weather phenomenon like rainfall, fog and hailstorm usually
occur?

A) Mesosphere
B) Thermosphere
C) Stratosphere
D) Troposphere

61) cIgraea cad 9asa AIGe An91a Asdl g2l QEe, @28 9e° qUIUR AT AUAES ATl ?

A) srsaRaQ
B) 26£130Q
C) 269139
D) g6IdaQ

62) The meaning of which of the following oceans is "Peaceful"?

A) Indian Ocean

B) Pacific Ocean
C) Atlantic Ocean
D) Arctic Ocean

62) FARYS NRIATNGER FUIQ 629GQ 22 6298 “SI8gd” 2

A) @ A1IQIBR

B) gaie agiaiea

C) aiIenda 121199
D) 2196Q F121Q169

63) What is the term of Rajya Sabha?

A) 5 years
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B) 6 years
C) 3 years
D) 2 years

63) QINARIR 2R, 6R6S 6RAN2IN ?

A) & o
B) » o¢
C)mad
D) s @f

64) How many Mahajanapadas are mentioned in the Indian history that emerged during the Vedic
Age?

A) Fourteen
B) Fifteen

C) Sixteen

D) Seventeen

64) 65GR J96Q AYR 621R2/<I NIRRT RLLIAER 616 AIRFUIQ QR FAULIRR?

A) cae
B) ara
C) saige
D) aea

65) The term Acid Rain was coined in 1872 by

A) Walter Brogger

B) John Evelyn

C) Robert Angus Smith
D) Gene Likens

65) 2¢ @l 4R 99 AdRIea YT Al ZIQA FAUREIRI

A) GR8 621615
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B) & 1eae
C) sae¢ 2Iga gel
D) & @eaq

66) Earth Day is celebrated annually on

A) 22nd May
B) 22nd June
C) 22nd April
D) 22nd July

66) gGed Qo1 Gad AIRE AAIAI

A) 22 aa
B) 22 ¢
C) 22 a6gm
D) 22 gaim

67) Which two separate Union Territories have become a single Territory since January 2020

A) Puduchery and Goa
B) Dadra and Nagar Haveli and Daman and Diu

C) Dadra and Nagar Haveli and Puducherry
D) Telangana and Andhra Pradesh

67) @Igaia1 9090 0IQ 694 QAF 2Rl 6aaaIde roe A3 60I1G46a ARde 62IRad

A) Q6961 9e* slRI

B) @Igl 9 qoa 20605 49 QNG 9e° GG
C) V12 4 R9Q 2A60R 19 YRESA

D) 696RENIAN e° 2IRYER4

68) What happens in the event of resignation or death of the PM?

A) The ministry gets dissolved
B) Fresh election takes place within one month

Page280f39
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C) The cabinet chooses another leader
D) The President decides over the ruling

68) guIRAaIT RITI @A 6y AEIEQ @& 99 ?

A) 936104 QENAI

B) 9@ 1A ARI6Q Q97 AIOR A 24
C) QUIFERE AR 968 6061 QI3

D) Qa6 1@ 496 @ueq 796 6°aad

69) The days and nights stay approximately of the same length all year round on the
A) Poles

B) Tropics

C) Equator

D) Antarctic

69) edaiql ¥@0I6Q G e AIF Q1A AAIQ AR QReId

A) 6919
B) 2 i Ly 19

C) 8g< 69!l
D) 2reidea

70) Who was known as the 'Mother of Indian Revolutionaries'?

A) Sarojini Naidu
B) Madame Cama
C) Usha Mehta

D) Annie Besant

70) ‘@012 91 AIe’ SR @4 A8ee ?

A) A6Q1G01 FIRG
B) cuigiel @ifl

C) @9l 671626
D) 2@ 69as
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71) Which king was given the title 'Napoleon of India' as per historians?

A) Chandragupta Maurya
B) Samudragupta

C) Harshavardhana

D) Ashoka

71) A5ades 2gQI0 696 QIFIT 'AIR0Q FIEAIRNAR’ 2N SSUSRI?

A) 6999 6y
B) agqeqa

C) edede

D) asaia

72) The Ministry of Environment and Forests was renamed as The Ministry of Environment, Forest
and Climate Change in

A) Jan-06
B) May-14
C) Jun-14
D) Jun-06

72) 03694 6 90 A9dI90a af64, P Ie° @RI 90907 NRGIRAA FINRAE 9@ ANK6R USRI

A) RIQaIRAT - 09
B) a@ - ex
C)ge- Q¥
D) @& - 09

73) The Ninth Schedule was introduced in the Constitution during the Prime Ministership of

A) JawaharlLal Nehru
B) Lal Bahadur Shastri
C) Indira Gandhi

D) Manmohan Singh
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73) 9@ guIFR1e Aa6a AANIRER F9F 961 996 SRIdIReRl

A) PRI20RIN 62629
B) AR QI21QQ 4Ig1
C) 9aal siat

D) arsqIee &

74) A certain place on the Earth has a latitude of 37°47' S and longitude of 144°58' E. This place is
located in which country?

A) Japan

B) China

C) India

D) Australia

74) gaeia e §da gea asrs 37°47' S wer qidel 144°58' E 2661 98 gI9G 6a6 6asisa 296 ?

INERG

B) ¢1¢

C) @oe
D) 2egmall

75) What was the objective of the Cripps Mission?

A) To prevent the launch of Quit India Movement
B) To convince the Congress ministers to withdraw their resignations

C) To persuade the Indian leaders to support the British war efforts
D) To set up a constitution making body

75) &9 dgea 2R '8 2l ?

A) 9196 216 2ICAINA] 6AIARI a6l
B) #6512 AIFIRG 6AAIRE QAT gEURAQ RARIQ ANIQA! Al

C) Q5@ ga gaiaq Aele REQIq AIRG1Y 6RRIFIRG ARIARI IR
D) 4@ Qe 2R gl 608 @t ae
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following product will be formed when ethyne is treated with Cu at 600 °C?

A) Cyclooctane

B) 1,2,5,7-Cyclooctatetraene
C) Benzene

D) Cyclobutene

76) 60666967 aseaq CuU ade 600°C ca @1921a @aIaN §eA¢6 2919 :Q 6896 606 629 ?

A) ARERUERL

B) ©,9,8,9-AREQAUYESEER
C) saq6e%

D) QR6qI96ee

77) What is the unit of 'a' in the van der Waal's equation?

A) L mol”

B) atm™' L mol2
C) atm L2 mol
D) atm L2 mol~

77) QU9 606 GIa ANRAG6R ‘A" Q 4ae @4 ?

A) L mol!

B) atm*' L mol2
C) atm L2 mol
D) atm L2 mol2

78) Which scientist's surname is used as unit of work and energy?

A) Charles-Augustin de Coulomb
B) James Prescott Joule
C) Michael Faraday
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D) Max Planck

78) 602 6ARIGRE QAAIA ALY G2 9Q I0a AR MRS 4 ?

A) Qlend 298.Q 6 9R4
B) 699 699 @4 gR

C) aImean TIQI6e

D) qig Q=

79) High biological oxygen demand in a water body means

A) water is not polluted

B) water is polluted

C) water contains lot of life forms
D) water contains only plants

79) 20 QIGEQ 2@ 6FER AR ANRRIQ AU

A) @ 9986 Q6%

B) o 9986 62108

C) 9R6Q 86Ra F109 Ieé fREI
D) 9R6Q 629 a6 &I

80) In which of the following flower the gynoecium occupies the highest position while the other parts
are situated below it?

A) perigynous

B) hypogynous

C) epigynous

D) gamosepalous

80) GeqJe aa MIQ 6auGea Gerldar ARG QIR ZRIQ AGLRCAER 2aY Zragae 12l 06R AQTe ?

A) [Xsataiale]
B) 2iasaIfeq
C) 19eaq
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D) CllerIe9ddimd

81) Which of the given reactions can only remove water hardness temporarily?

A) CaClz + Na2CO3 — CaCOs + 2NaCl

B) Ca(HCQO3)2 — CaCOs3 + CO2 + H20

C) MgClz + Na2CO3s — MgCOs + 2NaCl

D) 2CaClz + Nas(PQO4)s — Na2Ca2(PO4)s + 4NaCl

81) QuIaIQeel geRAgEa IQ 694860 699R PRAQ @0L0Ig ANTR ALER ATARE FAURS ?

A) CaClz + Na2CO3 — CaCOs + 2NaCl

B) Ca(HCO3)2 — CaCOs3 + CO2 + H20

C) MgCl2 + Na2CO3 — MgCOs + 2NaCl

D) 2CaCl2 + Nas(PO4)s — Naz2Ca2(POa4)s + 4NaCl

82) What possible reason can be given for liquids failing to have any definite shapes?

A) Strong intermolecular forces able to hold them in fixed positions
B) Low kinetic energy unable to hold them in fixed positions

C) Strong kinetic energy able to hold them in fixed positions

D) Weak intermolecular forces unable to hold them in fixed positions

—

82) can 9eida 6@6d TR 2QE F62VI6R 699 AR FIQS FAUURAER ?

A) 936191 GrEREFIEAIPAIR 618 ARG Fa JF6Q AYRIER AV 62AREIN
B) 79 66 98 saqing ga §o6a agRIea and caiqeld

C) 936Ia1 96 613 6QrIFe o o9 agI6q A/ 62102

D) 29 SrEasIERIAIR 68 627I0g Ja JF6a QyRIea aand

83) Read the following question and choose the CORRECT option from the following.
A drawn bow possesses mechanical energy in the form of elastic

1. Potential energy

2. Kinetic energy

A) option 1 only
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B) option 2 only
C) both option 1 and 2
D) neither option 1 and 2

83) G960 GeIKINSRI 94 9e 9&° OR a8 QI8 :
CEIQINYR! Q@ A FIRR 62 gIY 62RAN, YT QU6Q AR

@)

oF @

)

1.

&)

2. 968 ¢

=3}

A) 6a9% SR8l

B) 6aae dag 2

C) @ea @a8 1 9a° 2

D) 1 &¢I 260163 Ga8 92

84) Which of the following prepared from Trebbiano and has a dark brown appearance?

A) Apple Cider Vinegar
B) Balsamic Vinegar
C) White vinegar

D) Cane Vinegar

84) QaRgye ArIQ 6096 69RRERIQ GO IS 12IR FIF QIRIAT e Q8BS ?

A) IR ARG} G6FEIR
B) @IRidie Geeaia

C) Ue G661}

D) 6a% @eaaIR

85) The pigment responsible for trapping of light energy essential for photosynthesis are found in

A) Amyloplast
B) Aleuroplast
C) Chloroplast
D) Elaioplast
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85) aisnie 6484 AR ASYILNiR AR 43 SIder Clel QI 89 daeere w86 fReld

A) adiemq e
B) zi6ReqIga
C) sqleaiq@
D) YR@ege

86) In the following characters, EXCEPT one character, remaining characters appear in xerophytes,
the character is

A) Presence of thick cuticle
B) Presence of sunken stomata
C) Presence of hypodermis
D) Presence of aerenchyma

86) Gqace @dgense, 691G @d 2608, 2958 ANRYER 6R6AITINGER 6QHIAN, A4F 6908

A) 69161 2Gen0 auge
B) 6@ saAIcIaQ 209G
C) 2imsaiefiaa aage
D) giseroiania @age

87) What will be the relationship of molecular weights M1 to M2 between gases 1 and 2 if their rates
of diffusion is 40 and 20 L/s respectively?

A) M1 = 4M;
B) Mz = 4M;
C) M2 = 2M1
D) M1 = 2M>

87) quia 1 9o 2 auiea adgma 6ee M1 @ M2 @ a#6 @'4 629, 9@ canieea d9ia 21a galgsn 40 e 20 L/s semara ?

A) M1 = 4M2
B) M2 = 4M1
C) M2 = 2M1
D) M1 = 2M2
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88) Which of the following forces are conservative forces?

A) Gravitational force, electrostatic force and elastic force
B) Gravitational force, frictional force and elastic force

C) Electrostatic force, frictional force and magnetic force
D) Electrostatic force, frictional force and gravitational force

88) 671D FRIQ 67QT A°QTS IR 26T ?

A) aeiadd o, , 80 @948 oF , 80aI9e o

B) agiadie or Q894 99,8000 af

C) 90 9Q4Q R, AZIadd 9R,096 OR, PN QR
D) g §g4Q aR, A4 9F, ALIeEE GF

89) The process by which a double-stranded DNA molecule is copied to produce two identical DNA
molecules is called

A) Translation
B) Transcription
C) Replication
D) Splicing

89) qa& anie DNA 21g aqioe @69l aiel 4 g@a Qo @agd d8a DNA 2gq 9eq aaia e1Rig
Q2IQIN |

A) 29919
B) 96sase
C) @@a

D) faiee

90) Glycocalyx is a type of

A) centrioles

B) vacuole

C) cell coat

D) cell membrane
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90) qRERRNG 6208 1@ IR

A) B
B) euiga

C) 69@ 64I6
D) 69a 64169,@

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Question Paper No: 62384 27

Answer Key

1| C 31| A 61 |D
2| D 32| D 62 | B
3| A 33| D 63 | B
4|C 34 | B 64 | C
5B 35| A 65| C
6|B 36 | D 66 | C
7| A 37| D 67 | B
8| A 38| C 68 | A
9|B 39 | A 69 | C
10 | B 40 | B 70 | B
11|C 41D 71 | B
12D £21C 72 | B
13D 43 A 73| A
14 | A 44 | B 74 | D
15|C 45D 75| C
16 | A 46 | C 76 | C
17|C 47 [ A 77 | D
18| C 48 | C 78 | B
19| A 49 | B 79 | B
20 | A 50 | D 80 | B
21| B 51|C 81| B
22 | B 52D 82 | D
23| A 53| A 83| A
24 | A 54 | A 34 | B
25| D 55| C 85| C
26 | A 56 | D 86 | D
ir| ¢ 57| D 87 | B
28 | D 58| C 88 | A
29 | D 59 | B 89 | C
30 | C 60 | C 90 | C
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